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ri
qu

es

T
h
éo

rè
m

e
19

.
So

it
q

un
ré

el
te

lq
ue

q
6=

0.

1)
Si

q
=

1,
al

or
s

(q
n
)

es
t
co

ns
ta

nt
e

(=
1)

et
co

nv
er

ge
do

nc
ve

rs
1
.

2)
Si

q
>

1
,
al

or
s

li
m

n
!

+
1

qn
=

+
1

.

3)
Si

|q|
<

1
,
al

or
s

li
m

n
!

+
1

qn
=

0.

4)
Si

q
6

�
1
,
al

or
s

(q
n
)

n’
ad

m
et

pa
s

de
lim

it
e.

D
ém

on
st

ra
ti
on

.

1)
qn

=
1

�!
n
!

+
1

1
.

2)
qn

+
1

qn
=

q
>

0
do

nc
(q

n
)

es
t

(s
tr

ic
te

m
en

t)
cr

oi
ss

an
te

.

Su
pp

os
on

s
pa

r
l’a

bs
ur

de
qu

e
(q

n
)

es
t

m
aj

or
ée

.
Il

ex
is

te
al

or
s

A
>

0
te

lq
ue

:8
n
2

N
,

qn
6

A
.
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01
6

R
em

ar
qu

e
•

P
ar

co
nt

ra
po

sé
e,

on
en

dé
du

it
qu

’u
ne

su
it

e
no

n
bo

rn
ée

ne
pe

ut
co

nv
er

ge
r.

•
C

et
én

on
cé

n’
es

t
pa

s
un

e
éq

ui
va

le
nc

e.
E

n
eff

et
,u

ne
su

it
e

bo
rn

ée
n’

es
t

pa
s

fo
rc

ém
en

t
co

nv
er

ge
nt

e.
C
on

si
dé

re
r

pa
r

ex
em

pl
e

la
su

it
e

((
�

1)
n
)

P
ro

p
os

it
io

n
2.

So
it

(u
n
)

es
t
un

e
su

it
e

ré
el

le
.

So
it

(v
n
)

=
(u

'
(n

))
un

e
su

it
e

ex
tr
ai

te
de

(u
n
).

u
n

�!
n
!

+
1

`
)

u
'
(n

)
�!

n
!

+
1

`

A
ut

re
m

en
t
di

t,
si

(u
n
)

ad
m

et
la

lim
it
e
`,

al
or

s
il

en
es

t
de

m
êm

e
de

to
ut

es
se

s
su

it
es

ex
tr
ai

te
s.

D
ém

on
st

ra
ti
on

.
O

n
su

pp
os

e
qu

e
u

n
�!

n
!

+
1

`
et

on
m

on
tr

e
u
'
(n

)
�!

n
!

+
1

`.
So

it
"

>
0
.

1)
C

om
m

e
(u

n
)

co
nv

er
ge

ve
rs

`,
il

ex
is

te
un

ra
ng

n
0

te
lq

ue
:

8n
>

n
0
,

|u
n
�

`|
<

"

2)
O

r,
co

m
m

e
'

es
t

st
ri

ct
em

en
t

cr
oi

ss
an

te
,i

le
xi

st
e

un
ra

ng
n

1
te

lq
ue

:

8n
>

n
1
,
'
(n

)
>

n
0

3)
O

n
en

co
nc

lu
t,

d’
ap

rè
s

le
po

in
t
1)

qu
e

:8
n
>

n
1
,

|u
n
�

`|
<

".

R
em

ar
qu

e
C

et
te

pr
op

os
it

io
n

pe
rm

et
de

dé
m

on
tr

er
de

la
di

ve
rg

en
ce

de
su

it
es

.
C

on
si

dé
ro

ns
un

e
su

it
e

(u
n
).

1)
Si

(u
n
)

ad
m

et
un

e
so

us
-s

ui
te

di
ve

rg
en

te
,a

lo
rs

(u
n
)

di
ve

rg
e.

2)
Si

(u
n
)

ad
m

et
de

ux
so

us
-s

ui
te

s
te

nd
an

t
ve

rs
de

ux
lim

it
es

di
st

in
ct

es
,

al
or

s
(u

n
)

di
ve

rg
e.

E
xe

m
p
le

M
on

tr
er

qu
e

la
su

it
e

((
�

1
)n

)
es

t
di

ve
rg

en
te

.
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E
xercice

O
n

considère
la

suite
définie

par
:

8
n
2

N
⇤,

S
n

=
nPk
=

1

(�
1)

k
+

1

k

a)
D

ém
ontrer

que
les

suites
(S

2
n
)
n2

N
⇤

et
(S

2
n�

1 )
n2

N
⇤

son
adjacentes.

b)
E

n
déduire

que
la

suite
(S

n
)

converge.

D
ém

onstration.
a)

Soit
n
2

N
⇤.

•
(S

2
n
)

est
croissante.E

n
effet

:

S
2
(n

+
1
) �

S
2
n

=
2
n
+

2
Pk
=

1

(�
1)

k
+

1

k
�

2
n
Pk
=

1

(�
1)

k
+

1

k

=
(�

1)
2
n
+

3

2
n

+
2

+
(�

1)
2
n
+

2

2
n

+
1

=
1

2
n

+
1
�

1

2
n

+
2

>
0

•
(S

2
n�

1 )
est

décroissante.E
n

effet
:

S
2
(n

+
1
)�

1 �
S

2
n�

1
=

2
n
+

1
Pk
=

1

(�
1)

k
+

1

k
�

2
n�

1
Pk
=

1

(�
1)

k
+

1

k

=
(�

1)
2
n
+

2

2n
+

1
+

(�
1)

2
n
+

1

2
n

=
1

2n
+

1
�

12n
6

0

•
S

2
n �

S
2
n�

1
=

(�
1)

2
n

2
n

=
12
n

�!
n!

+
1

0

A
insi,les

suites
(S

2
n
)

et
(S

2
n�

1 )
sont

adjacentes.
E

lles
sont

donc
convergentes

vers
la

m
êm

e
lim

ite
`2

R
.

b)
Les

term
es

d’indice
pair

de
(S

n
)

sont
aussiproches

que
souhaité

de
`.

C
’est

aussile
cas

des
élém

ents
d’indice

im
pair.

A
insi,tous

les
élém

ents
de

(S
n
)

sont
aussiproches

que
souhaité

de
`.

O
n

en
conclut

que
(S

n
)

est
convergente,de

lim
ite

`.
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I.5.
O

p
ération

s
su

r
les

su
ites

convergentes

I.5.a)
S
om

m
e

d
e

d
eu

x
su

ites
convergentes

T
h
éorèm

e
3.

Soit
(u

n
)

une
suite

réelle
convergeant

vers
`
1 .

Soit
(v

n
)

une
suite

réelle
convergeant

vers
`
2 .

A
lors

la
suite

(u
n

+
v
n
)

est
convergente,

de
lim

ite
`
1
+

`
2 .

u
n
!

`
1

v
n
!

`
2

)
)

u
n
+

v
n
!

`
1 +

`
2

D
ém

onstration.
•

La
convergence

de
(u

n
)

perm
et

d’affi
rm

er
qu’à

partir
d’un

certain
rang

n
1 ,la

distance
de

u
n

à
`
1

est
aussipetite

que
ce

que
l’on

souhaite.
•

Ilen
est

de
m

êm
e

de
la

distance
de

v
n

à
`
2

à
partir

d’un
certain

rang
n

2 .
•

O
r,par

l’inégalité
triangulaire,on

a
:

|(u
n

+
v
n
)�

(`
1
+

`
2 )|

=
|(u

n �
`
1 )

+
(v

n �
`
2 )|6

|u
n �

`
1 |+

|v
n �

`
2 |

A
insi,à

partir
du

rang
n

=
m

a
x
(n

1 ,n
2 ),la

distance
de

u
n

+
v
n

à
`
1

+
`
2

est
aussipetite

que
ce

que
l’on

souhaite.

R
em

arqu
e

•
C

e
résultat

n’est
évidem

m
ent

pas
une

équivalence.O
n

peut
en

effet
trou-

ver
deux

suites
(u

n
),

(v
n
)

telles
que

(u
n

+
v
n
)

est
convergente

et
(u

n
)

et
(v

n
)

divergentes.P
ar

exem
ple

:
⇥

u
n

=
(�

1)
n

et
v
n

=
�

(�
1)

n.
La

suite
(u

n
+

v
n
)

est
alors

constante
(8

n
2

N
,

u
n

+
v
n

=
0).

E
lle

converge
donc

vers
0

alors
que

(u
n
)

et
(v

n
)

ne
possèdent

pas
de

lim
ite.

⇥
u

n
=

n
et

v
n

=
�

n
+

1n
.

O
n

a
:
u

n
+

v
n

=
1n

�!
n!

+
1

0
alors

que
u

n
�!

n!
+
1

+
1

et
v
n

�!
n!

+
1

�
1

.

(définition
à

venir)

10



E
C

E
1-

B
20

15
-2

01
6

D
ém

on
st

ra
ti
on

.
Il

s’
ag

it
es

se
nt

ie
lle

m
en

t
de

dé
m

on
tr

er
qu

e
la

re
pr

és
en

ta
ti

on
gr

ap
hi

qu
e

pr
é-

cé
de

nt
e

es
t

co
rr

ec
te

.

a)
La

su
it

e
(v

n
�

u
n
)

es
t

dé
cr

oi
ss

an
te

So
it

n
2

N
.(

v n
+

1
�

u
n
+

1
)
�

(v
n
�

u
n
)

=
v n

+
1
�

v n
|

{z
}

6
0

+
u

n
�

u
n
+

1
|

{z
}

6
0

6
0
.

b)
P
ou

r
to

ut
n
2

N
,v

n
>

u
n

P
ar

hy
po

th
ès

e,
(v

n
�

u
n
)

es
t

co
nv

er
ge

nt
e.

P
ar

th
éo

rè
m

e,
el

le
es

t
do

nc
bo

rn
ée

.
C

et
te

su
it

e
ét

an
t

dé
cr

oi
ss

an
te

et
m

in
or

ée
,
le

th
éo

rè
m

e
de

co
nv

er
ge

nc
e

m
on

ot
on

e
pe

rm
et

d’
affi

rm
er

qu
e

:

8n
2

N
,

v n
�

u
n

>
in

f
n
2N

(v
n
�

u
n
)

=
0

(c
om

m
e

pr
éc

is
é

da
ns

la
re

m
ar

qu
e

su
iv

an
t

le
th

éo
rè

m
e

de
co

nv
er

ge
nc

e
m

on
ot

on
e,

il
fa

ud
ra

it
fa

ir
e

ce
tt
e

dé
m

on
st

ra
ti
on

pa
r

l’a
bs

ur
de

)

c)
La

su
it

e
(u

n
)

es
t

m
aj

or
ée

et
la

su
it

e
(v

n
)

es
t

m
in

or
ée

O
n

pe
ut

m
ai

nt
en

an
t

dé
m

on
tr

er
qu

e
:8

n
2

N
,

u
n
6

v 0
.

•
E

n
eff

et
,o

n
a

:8
n
2

N
,

v n
6

v 0
pu

is
qu

e
(v

n
)

es
t

dé
cr

oi
ss

an
te

.

•
A

in
si

,o
n

a
:8

n
2

N
,

u
n
6

v n
6

v 0
.

D
e

m
an

iè
re

an
al

og
ue

,o
n

dé
m

on
tr

e
qu

e
:8

n
2

N
,

u
0
6

v n
.

d)
Le

s
su

it
es

(u
n
)

et
(v

n
)

co
nv

er
ge

nt
ve

rs
la

m
êm

e
lim

it
e

•
(u

n
)

es
t

cr
oi

ss
an

te
et

m
aj

or
ée

(p
ar

v 0
)

do
nc

co
nv

er
ge

nt
e

ve
rs

` 1
2

R
.

•
(v

n
)

es
t

dé
cr

oi
ss

an
te

et
m

in
or

ée
(p

ar
u

0
)

do
nc

co
nv

er
ge

nt
e

ve
rs

` 2
2

R
.

A
in

si
,o

n
a

:
li
m

n
!

+
1

(u
n
�

v n
)

=
li
m

n
!

+
1

u
n
�

li
m

n
!

+
1

v n
=

` 1
�

` 2
.

(l
a

pr
em

iè
re

ég
al

it
é

es
t
se

ul
em

en
t
vé

ri
fié

e
po

ur
de

s
su

it
es

co
nv

er
ge

nt
es

)
O

r
pa

r
hy

po
th

ès
e,

li
m

n
!

+
1

(u
n
�

v n
)

=
0.

O
n

en
co

nc
lu

t
qu

e
:`

1
=

` 2
.
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I.
5.

b
)

P
ro

d
u
it

d
’u

n
e

su
it

e
co

nv
er

ge
nt

e
p
ar

u
n

ré
el

�

T
h
éo

rè
m

e
4.

So
it
�
2

R
.

So
it

(u
n
)

un
e

su
it
e

ré
el

le
co

nv
er

ge
an

t
ve

rs
`.

A
lo

rs
la

su
it
e

(�
u

n
)

es
t
co

nv
er

ge
nt

e,
de

lim
it
e
�
`.

u
n
!

`
)

�
u

n
!

�
`

D
ém

on
st

ra
ti
on

.
Il

su
ffi

t
de

re
m

ar
qu

er
qu

e
|�

u
n
�

�
`|

=
|�

||u
n
�

`|.
So

it
"

>
0.

1)
C

om
m

e
(u

n
)

co
nv

er
ge

ve
rs

`,
il

ex
is

te
un

ra
ng

n
0
2

N
,t

el
qu

e
:

8n
>

n
0
,

|u
n
�

`|
<

" |�
|

2)
O

n
en

dé
du

it
qu

e
:8

n
>

n
0
,

|u
n
�

`|
=

|�
||�

u
n
�

�
`|

<
|�

|" |�
|=

".

A
in

si
,
si

la
di

st
an

ce
de

u
n

à
`

es
t

au
ss

i
pe

ti
te

qu
e

so
uh

ai
té

e,
il

en
es

t
de

m
êm

e
de

la
di

st
an

ce
de

�
.u

n
à
�
.`

.

I.
5.

c)
P

ro
d
u
it

d
’u

n
e

su
it

e
d
e

li
m

it
e

nu
ll
e

p
ar

u
n
e

su
it

e
b
or

n
ée

T
h
éo

rè
m

e
5.

So
it

(u
n
)

un
e

su
it
e

ré
el

le
de

lim
it
e

0
.

So
it

(v
n
)

un
e

su
it
e

bo
rn

ée
.

A
lo

rs
la

su
it
e

(u
n
⇥

v n
)

es
t
co

nv
er

ge
nt

e,
de

lim
it
e

0
.

u
n
!

0

(v
n
)

bo
rn

ée

)
)

u
n
⇥

v n
!

0
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III.2.
S
u
ites

ad
jacentes

D
éfi

n
ition

D
eux

suites
(u

n
)

et
(v

n
)

sont
dites

ad
jacentes

si:

1)
(u

n
)

est
croissante,

2)
(v

n
)

est
décroissante,

3)
u

n �
v
n

�!
n!

+
1

0.

R
ep

résentation
grap

h
iqu

e

(u
n
)

(v
n
)`

0
1

2
3

4
5

6
7

8
9

T
h
éorèm

e
17.

Sideux
suites

(u
n
)
et

(v
n
)
sont

adjacentes,alors
elles

sont
convergentes

et
adm

ettent
la

m
êm

e
lim

ite.

1)
(u

n
)

est
croissante,

2)
(v

n
)

est
décroissante,

3)
u

n �
v
n

�!
n!

+
1

0.

9>=>;
)

(u
n
)

et
(v

n
)

sont
convergentes

et
adm

ettent
la

m
êm

e
lim

ite
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D
ém

onstration.
Soit

"
>

0.
1)

Soit
M

2
R

une
borne

de
(v

n
)

:
8
n
2

N
,|u

n
v
n |

=
|u

n ||v
n |6

|u
n |

M
.

2)
C

om
m

e
(u

n
)

tend
vers

0,ilexiste
un

rang
n

0
telque

:8
n
>

n
0 ,|u

n |6
"M

.
O

n
en

déduit
:8

n
>

n
0 ,

|u
n

v
n |

=
|u

n ||v
n |6

|u
n |

M
6

"M
M

=
".

E
xem

p
le

Q
uelle

est
la

lim
ite

de
la

suite
✓

1�
n

n
+

n
2 ◆

?

Ilsuffi
t

de
rem

arquer
que

:
1�

n

n
+

n
2

=
1n
⇥

1�
n

1
+

n
.

O
r

:
1n
!

0
et,pour

tout
n
2

N
:
�

1
6

1�
n

1
+

n
6

0.

O
n

en
déduit

que
1n
⇥

1�
n

1
+

n
!

0.

I.5.d
)

P
rod

u
it

d
e

d
eu

x
su

ites
convergentes

T
h
éorèm

e
6.

Soit
(u

n
)

une
suite

réelle
de

lim
ite

`
1 .

Soit
(v

n
)

une
suite

réelle
de

lim
ite

`
2 .

A
lors

la
suite

produit
(u

n ⇥
v
n
)

converge
vers

`
1 ⇥

`
2 .

u
n
!

`
1

u
n
!

`
2

)
)

u
n ⇥

v
n
!

`
1 ⇥

`
2

D
ém

onstration.
O

n
rem

arque
d’abord

que
:
u

n
v
n �

`
1
`
2

=
(u

n �
`
1 )v

n
+

`
1 (v

n �
`
2 ).

•
(u

n �
`
1 )

converge
vers

0
et

(v
n
)

est
convergente

donc
bornée.

A
insi,

(u
n �

`
1 )v

n
!

0.
•

(v
n �

`
2 )

converge
vers

0
donc

`
1 (v

n �
`
2 )!

0.
O

n
en

conclut
que

:
u

n
v
n �

`
1
`
2 !

0
ce

quiéquivaut
à

:
u

n
v
n
!

`
1
`
2 .
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rè
m

e
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.
(D

éc
ro

is
sa

nc
e

et
m

in
or

at
io

n)
So

it
(u

n
)

un
e

su
it
e

de
ré

el
s.

A
lo

rs
on

a
:

1)
(u

n
)

dé
cr

oi
ss

an
te

(u
n
)

m
in

or
ée

�
)

(u
n
)

co
nv

er
ge

ve
rs

un
e

lim
it
e
`
2

R

•
P
lu

s
pr

éc
is

ém
en

t,
on

dé
m

on
tr
e

qu
e

:
`

=
in

f
n
2N

u
n
.

•
C
e

qu
i
pe

rm
et

d’
as

su
re

r
qu

e
:
8n

2
N

,
u

n
>

`.
2)

(u
n
)

dé
cr

oi
ss

an
te

(u
n
)

no
n

m
in

or
ée

�
)

u
n
!

�
1

D
ém

on
st

ra
ti
on

.
Il

su
ffi

t
d’

ap
pl

iq
ue

r
le

ré
su

lt
at

pr
éc

éd
en

t
à

la
su

it
e

(v
n
)

de
te

rm
e

gé
né

ra
l

v n
=

�
u

n
.E

n
eff

et
:

⇥
(u

n
)

dé
cr

oi
ss

an
te

,
(�

u
n
)

cr
oi

ss
an

te
,

⇥
(u

n
)

m
in

or
ée

,
(�

u
n
)

m
in

or
ée

.

R
em

ar
qu

e
•

La
no

ti
on

de
bo

rn
e

su
pé

ri
eu

re
/

in
fé

ri
eu

re
n’

es
t

pa
s

au
pr

og
ra

m
m

e
de

la
se

ct
io

n
E

C
E

et
so

n
ut

ili
sa

ti
on

po
ur

ra
do

nc
êt

re
sa

nc
ti

on
né

e
au

x
co

nc
ou

rs
.

•
O

n
pe

ut
do

nc
,d

an
s

un
ex

er
ci

ce
,a

vo
ir

à
dé

m
on

tr
er

qu
e

:

(u
n
)

cr
oi

ss
an

te
u

n
!

`

�
)

8n
2

N
,

u
n
6

`

Il
fa

ud
ra

al
or

s
pr

oc
éd

er
pa

r
l’a

bs
ur

de
.

E
xe

rc
ic

e

O
n

co
ns

id
èr

e
la

su
it

e
(u

n
)

dé
fin

ie
pa

r
:⇢

u
0

=
1

8n
2

N
,

u
n
+

1
=

ln
(2

u
n

+
1)

a.
M

on
tr

er
qu

e
(u

n
)

es
t

bi
en

dé
fin

ie
et

qu
e

po
ur

to
ut

n
2

N
:1

6
u

n
6

2.
b.

É
tu

di
er

le
se

ns
de

va
ri

at
io

n
de

(u
n
).

c.
E

n
dé

du
ir

e
qu

e
(u

n
)
co

nv
er

ge
ve

rs
un

e
lim

it
e
`
2

R
te

lle
qu

e
:1

6
`
6

2
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5.

e)
Q

u
ot

ie
nt

d
e

d
eu

x
su

it
es

co
nv

er
ge

nt
es

T
h
éo

rè
m

e
7.

So
it

(u
n
)

un
e

su
it
e

ré
el

le
de

lim
it
e
`
6=

0.

A
lo

rs
la

su
it
e
✓

1 u
n

◆
⇥

es
t
dé

fin
ie

à
pa

rt
ir

d’
un

ce
rt

ai
n

ra
ng

,

⇥
co

nv
er

ge
ve

rs
la

lim
it
e

1 `
.

u
n
!

`
6=

0
)

1 u
n
!

1 `

D
ém

on
st

ra
ti
on

.
Su

pp
os

on
s
`

>
0

(l
e

ca
s
`

<
0

se
tr

ai
te

de
m

an
iè

re
si

m
ila

ir
e)

.

À
pa

rt
ir

d’
un

ce
rt

ai
n

ra
ng

,o
n

a
:
` 2

<
u

n
<

3
` 2
.(

po
ur

qu
oi

?)

À
pa

rt
ir

de
ce

ra
ng

,o
n

a
:� � � �1 u

n
�

1 `

� � � �6
|u

n
�

`|
`|u

n
|

6
|u

n
�

`|
`
` 2

et
co

m
m

e
on

pe
ut

co
nt

rô
le

r
la

di
st

an
ce

|u
n
�

`|,
il

en
es

t
de

m
êm

e
de

la
di

st
an

ce
� � � �1 u

n
�

1 `

� � � �.

T
h
éo

rè
m

e
8.

So
it

(u
n
)

un
e

su
it
e

ré
el

le
de

lim
it
e
` 1

.

So
it

(v
n
)

un
e

su
it
e

ré
el

le
de

lim
it
e
` 2

6=
0.

A
lo

rs
la

su
it
e
✓

u
n

v n

◆
⇥

es
t
dé

fin
ie

à
pa

rt
ir

d’
un

ce
rt

ai
n

ra
ng

,

⇥
co

nv
er

ge
ve

rs
la

lim
it
e
` 1 ` 2

.

u
n
!

` 1

v n
!

` 2
6=

0

)
)

u
n

v n
!

` 1 ` 2
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III.
L
es

théorèm
es

de
m

onotonie

III.1.
T

h
éorèm

e
d
e

convergen
ce

m
on

oton
e

T
h
éorèm

e
15.

(C
roissance

et
m

ajoration)
Soit

(u
n
)

une
suite

de
réels.

A
lors

on
a

:

1)
(u

n
)

croissante
(u

n
)

m
ajorée

)
)

(u
n
)

converge
vers

une
lim

ite
`2

R

•
P
lus

précisém
ent,

on
dém

ontre
que

:
`

=
su

p
n2

N
u

n .

•
C
e

qui
perm

et
d’assurer

que
:8

n
2

N
,

u
n

6
`.

2)
(u

n
)

croissante
(u

n
)

non
m

ajorée

)
)

u
n
!

+
1

D
ém

onstration.

1)
T
echnique.Ils’agit

de
dém

ontrer
que

:
u

n
!

su
p

n2
N

u
n .

N
on

fait
ici(hors

program
m

e).

Ilreste
à

dém
ontrer

que
:

(u
n
)

croissante
u

n
!

`

�
)

8
n
2

N
,

u
n
6

`

•
C

’est
im

m
édiat

sil’on
sait

que
`

=
su

p
n2

N
u

n .

(attention
:
cette

notion
est

hors
program

m
e!)

•
Sil’on

ignore
ce

résultat,on
suppose

par
l’absurde

que
la

suite
(u

n
)

croissante,convergente
vers

`
et

que
N
O
N
(8

n
2

N
,

u
n
6

`).
A

insi,ilexiste
n

0 2
N

telque
u

n
0

>
`.

C
om

m
e

(u
n
)

est
croissante,on

a
:8

n
>

n
0 ,

u
n
>

u
n

0 .
P
ar

passage
à

la
lim

ite
dans

cette
inégalité,on

obtient
:
`>

u
n

0 .
E

n
com

binant
avec

la
prem

ière
inégalité,on

a
alors

:
`>

u
n

0
>

`.

2)
Soit

(u
n
)

une
suite

croissante.
O

n
dém

ontre
par

l’absurde
que

:
(u

n
)

non
m

ajorée
)

u
n
!

+
1

.
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D
ém

onstration.

•
D

’après
le

théorèm
e

précédent,
la

suite
✓

1v
n ◆

est
définie

(au
m

oins
à

partir
d’un

certain
rang)

et
converge

vers
1`
2 .

O
n

en
déduit

que
✓

u
n

v
n ◆

est
définie.

•
D

e
plus,on

a
:8

n
2

N
,

u
n

v
n

=
u

n ⇥
1v
n .

A
insi,

par
produit

de
suites

convergentes,
la

suite
✓

u
n

v
n ◆

est
convergente

de
lim

ite
`
1 ⇥

1`
2

=
`
1

`
2 .

E
xercice

D
éterm

iner
la

lim
ite

de
la

suite
(u

n
)

de
term

e
général

u
n

=
2
n

2
+

n
+

1

n
2
+

3
.

u
n

=
2
n

2
+

n
+

1

n
2
+

3
=

2n
2

n
2

⇥
1

+
n

2
n

2
+

1
2
n

2

1
+

3
2
n

2

=
2⇥

1
+

12
n

+
1

2
n

2

1
+

3
2
n

2

O
r

on
a

1
+

12
n

+
1

2n
2
!

1,
et

1
+

3

2
n

2
!

1.

O
n

en
déduit

que
(u

n
)

est
convergente,de

lim
ite

2.

I.5.f)
C

om
p
atib

ilité
avec

la
valeu

r
ab

solu
e

T
h
éorèm

e
9.

Soit
(u

n
)

une
suite

réelle
de

lim
ite

`.
A

lors
la

suite
(|u

n |)
est

convergente
de

lim
ite

|`|.

u
n
!

`
)

|u
n |!

|`|

D
ém

onstration.
P
ar

inégalité
triangulaire,on

a
:||u

n |�
|`||6

|u
n �

`|.
O

n
peut

contrôler
la

distance
|u

n �
`|,

il
en

est
donc

de
m

êm
e

de
||u

n |�
|`||.
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II
.4

.
C

om
p
at

ib
il
it

é
av

ec
la

va
le

u
r

ab
so

lu
e

T
h
éo

rè
m

e
13

.
So

it
(u

n
)

un
e

su
it
e

ré
el

le
di

ve
rg

en
te

de
lim

it
e
1

(+
1

ou
�
1

).

A
lo

rs
la

su
it
e

(|u
n
|)

es
t
di

ve
rg

en
te

de
lim

it
e

+
1

.

u
n
!

1
)

|u
n
|!

+
1

D
ém

on
st

ra
ti
on

.
Su

pp
os

on
s

qu
e

(u
n
)

te
nd

ve
rs

+
1

.

•
À

pa
rt

ir
d’

un
ce

rt
ai

n
ra

ng
n

0
,l

es
te

rm
es

de
la

su
it

e
u

n
so

nt
po

si
ti

fs
.

•
A

in
si

:8
n
>

n
0
,

u
n

=
|u

n
|.

O
n

en
dé

du
it

qu
e

|u
n
|!

+
1

.
Le

ca
s

où
(u

n
)

te
nd

ve
rs

�
1

se
tr

ai
te

de
m

an
iè

re
si

m
ila

ir
e.

E
n

fa
it

,l
e

th
éo

rè
m

e
de

co
m

po
si

ti
on

de
sl

im
it

es
pe

ut
s’

éc
ri

re
av

ec
de

sl
im

it
es

in
fin

ie
s.

O
n

no
te

ra
R

l’e
ns

em
bl

e
fo

rm
é

de
s

ré
el

s
et

de
+
1

et
�
1

.

A
ut

re
m

en
t

di
t

:
R

=
R
[

{�
1

,+
1

}

T
h
éo

rè
m

e
14

.
(T

hé
or

èm
e

de
co

m
po

si
ti
on

de
s

lim
it
es

)

So
it

(u
n
)

un
e

su
it
e

ré
el

le
de

lim
it
e

a
2

R
.

So
it

f
:
R

!
R

un
e

fo
nc

ti
on

qu
i
ad

m
et

en
a

un
e

lim
it
e
`
2

R
.

A
lo

rs
la

su
it
e

(f
(u

n
))

ad
m

et
la

lim
it
e
`.

u
n
!

a

f
(x

)
�! x
!

a
`

)
)

li
m

n
!

+
1

f
(u

n
)

=
li
m

x
!

a
f
(x

)
=

`

D
ém

on
st

ra
ti
on

.
E

nc
or

e
un

e
fo

is
,

c’
es

t
un

ré
su

lt
at

du
ch

ap
it

re
lim

it
es

/
co

nt
in

ui
té

d’
un

e
fo

nc
ti

on
(à

ve
ni

r!
).
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R
em

ar
qu

e

•
E

n
gé

né
ra

l,
il

n’
y

a
pa

s
éq

ui
va

le
nc

e
:

un
e

su
it

e
co

nv
er

ge
an

t
en

va
le

ur
ab

so
lu

e
n’

es
t

pa
s

né
ce

ss
ai

re
m

en
t

co
nv

er
ge

nt
e.

•
P
ar

ex
em

pl
e,

la
su

it
e

(|(
�

1)
n
|)

es
t

co
nv

er
ge

nt
e

(8
n
2

N
,

|(�
1
)n

|=
1)

m
ai

s
la

su
it

e
((
�

1
)n

)
es

t
di

ve
rg

en
te

.

•
P
ar

co
nt

re
,l

’é
qu

iv
al

en
ce

es
t

ré
al

is
ée

lo
rs

qu
e
`

=
0.

E
n

eff
et

,o
n

a
:

(|u
n
|)

co
nv

er
ge

ve
rs

0

,
8"

>
0
,
9n

0
2

N
,
8n

>
n

0
,

||u
n
|�

0|
<

"

,
8"

>
0
,
9n

0
2

N
,
8n

>
n

0
,

||u
n
||

=
|u

n
|<

"

,
(u

n
)

co
nv

er
ge

ve
rs

0

E
xe

m
p
le

La
su

it
e
✓

(�
1)

n

n

◆
co

nv
er

ge
ve

rs
0

ca
r

:� � � �(�
1
)n

n

� � � �=
1 n
!

0.

Le
th

éo
rè

m
e

ci
-d

es
so

us
gé

né
ra

lis
e

le
ré

su
lt

at
pr

éc
éd

en
t.

T
h
éo

rè
m

e
10

.
(T

hé
or

èm
e

de
co

m
po

si
ti
on

de
s

lim
it
es

)

So
it

(u
n
)

un
e

su
it
e

ré
el

le
de

lim
it
e

a
2

R
.

So
it

f
:
R

!
R

un
e

fo
nc

ti
on

qu
i
ad

m
et

en
a

un
e

lim
it
e

fin
ie

`
2

R
.

A
lo

rs
la

su
it
e

(f
(u

n
))

es
t
co

nv
er

ge
nt

e
de

lim
it
e
`.

u
n
!

a

f
(x

)
�! x
!

a
`

)
)

li
m

n
!

+
1

f
(u

n
)

=
li
m

x
!

a
f
(x

)
=

`

D
ém

on
st

ra
ti
on

.
H

um
,

on
s’

em
ba

lle
un

pe
u

:
la

dé
m

o
né

ce
ss

it
e

la
no

ti
on

de
lim

it
e

d’
un

e
fo

nc
ti

on
en

un
po

in
t

(c
f

ch
ap

it
re

lim
it

es
/

co
nt

in
ui

té
d’

un
e

fo
nc

ti
on

).
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II.3.
C

om
p
atib

ilité
avec

la
relation

d
’ord

re

P
rop

osition
4.

Soit
n

0 2
N

et
soient

(u
n
)

et
(v

n
)

deux
suites

réelles
telles

que
:

8
n
>

n
0 ,

u
n
6

v
n

a)
Si

u
n
!

+
1

,
alors

v
n
!

+
1

.
O

n
peut

résum
er

cette
propriété

com
m

e
suit.

u
n
6

v
n

u
n
!

+
1

)
)

v
n
!

+
1

b)
Si

v
n
!

�
1

,
alors

u
n
!

�
1

.
O

n
peut

résum
er

cette
propriété

com
m

e
suit.

u
n
6

v
n

v
n
!

�
1

)
)

u
n
!

�
1

D
ém

onstration.
a)

L’idée
de

la
dém

onstration
est

la
suivante.

Si
u

n
devient

aussi
grand

que
souhaité,com

m
e

v
n
>

u
n ,

v
n

devient
aussique

souhaité
aussi.

D
ém

ontrons-le
rigoureusem

ent.
Soit

A
>

0.
•

C
om

m
e

u
n
!

+
1

,ilexiste
un

rang
n

1
à

partir
duquel:

u
n
>

A
.

•
N

otons
N

=
m

ax
(n

0 ,n
1 ).

À
partir

de
ce

rang
N

,on
a

:
v
n
>

u
n
>

A
.

C
ecidém

ontre
:
v
n
!

+
1

.
b)

La
dém
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1 `

2
0

�
1

+
1

`
2

=
0

0
0

0
F
.I.

F
.I.

+
1

+
1

�
1

F
.I.

+
1

�
1

�
1

�
1

+
1

F
.I.

�
1

+
1

Le
cas

du
produit

de
deux

suites
apporte

une
F
.I.:

0⇥
1
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I.6.b
)

D
ém

ontrer
d
e

la
convergen

ce

T
h
éorèm

e
12.

(T
héorèm

e
d’encadrem

ent)

Soient
(u

n
),

(v
n
),

(w
n
)

trois
suites

réelles
telles

que
:

•
(u

n
)

est
convergente,

de
lim

ite
`.

•
(w

n
)

est
convergente,

de
m

êm
e

lim
ite

`.

•
Ilexiste

un
rang

n
0 2

N
telque

:8
n
>

n
0 ,

u
n
6

v
n
6

w
n .

A
lors

la
suite

(v
n
)

est
convergente

de
lim

ite
`.

O
n

peut
résum

er
ce

théorèm
e

com
m

e
suit.

u
n

6
v
n

6
w

n

�!n!+1

999999 n!+1K

�!n!+1

`
6

`
6

`

D
ém

onstration.
C

onsidérons
un

intervalle
ouvert

contenant
`.

•
T
ous

les
term

es
de

(u
n
)

(sauf
un

nom
bre

fini)
sont

dans
cet

intervalle.

•
T
ous

les
term

es
de

(w
n
)

(sauf
un

nom
bre

fini)
sont

dans
cet

intervalle.

•
O

r,pour
tout

n
2

N
,on

a
:
u

n
6

v
n
6

w
n .

O
n

en
conclut

que
tous

les
term

es
de

(v
n
)

sont
dans

cet
intervalle.

O
n

peut
rédiger

cette
dém

onstration
«

avec
les

"
»

en
s’appuyant

sur
la

représentation
graphique

ci-dessous
:

`
u

n
v
n

w
n

"
"

`
+

"
`�

"
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•
Il

n’
es

t
pa

s
né

ce
ss

ai
re

,d
an

s
la

dé
fin

it
io

n
de

su
it

e
di

ve
rg

en
te

,d
e

su
pp

os
er

A
>

0.
P

lu
s

pr
éc

is
ém

en
t,

on
a

:

u
n
!

+
1

,
8A

2
R

,9
n

0
2

N
,8

n
>

n
0
,

u
n

>
A

u
n
!

�
1

,
8A

2
R

,9
n

0
2

N
,8

n
>

n
0
,

u
n

<
A

P
ro

p
ri

ét
é

im
m

éd
ia

te
s

So
it

(u
n
)

un
e

su
it

e
ré

el
le

.

1)
Si

(u
n
)

di
ve

rg
e

ve
rs

+
1

(r
éc

ip
ro

qu
em

en
t
�
1

)
al

or
s

el
le

es
t

po
si

ti
ve

(r
éc

ip
ro

qu
em

en
t

né
ga

ti
ve

)
à

pa
rt

ir
d’

un
ce

rt
ai

n
ra

ng
.

u
n
!

+
1

)
9n

0
2

N
,8

n
>

n
0
,

u
n
>

0

u
n
!

�
1

)
9n

0
2

N
,8

n
>

n
0
,

u
n
6

0

2)
Si

(u
n
)

di
ve

rg
e

ve
rs

+
1

al
or

s
el

le
n’

es
t

pa
s

m
aj

or
ée

.
(r

éc
ip

ro
qu

e
fa

us
se

!
C
on

si
dé

re
r

((
�

1)
n
n
))

3)
(u

n
!

�
1

)
,

(�
u

n
!

+
1

)

D
ém

on
st

ra
ti
on

.
1)

N
ot

on
s

A
=

0.
C

om
m

e
u

n
!

+
1

,
il

ex
is

te
un

ra
ng

n
0
2

N
,
te

l
qu

e
:

8n
>

n
0
,

u
n

>
A

=
0.

2)
Su

pp
os

on
s

pa
r

l’a
bs

ur
de

qu
e

u
n
!

+
1

et
(u

n
)

m
aj

or
ée

.
•

N
ot

on
s

M
l’u

n
de

se
s

m
aj

or
an

ts
.

•
O

n
no

te
A

=
M

.C
om

m
e

u
n
!

+
1

,i
le

xi
st

e
un

ra
ng

n
0
2

N
à

pa
rt

ir
du

qu
el

:u
n

>
A

=
M

.
Im

po
ss

ib
le

!
3)

La
dé

m
on

st
ra

ti
on

ti
en

t
da

ns
le

fa
it

qu
e

:

u
n

<
�

A
,

�
u

n
>

A
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01
6

Il
s’

ag
it

de
dé

m
on

tr
er

qu
e

v n
!

`
:
8"

>
0
,9

N
2

N
,8

n
>

N
,

|v n
�
`|

<
".

So
it
"

>
0.

1)
C

om
m

e
u

n
!

`,
il

ex
is

te
un

ra
ng

n
1
2

N
te

lq
ue

:8
n
>

n
1
,

|u
n
�
`|

<
".

A
ut

re
m

en
t

di
t

:
8n

>
n

1
,
�
"

<
u

n
�

`
<

".
2)

C
om

m
e

w
n
!

`,
il

ex
is

te
un

ra
ng

n
2
2

N
te

lq
ue

:8
n
>

n
2
,

|w
n
�
`|

<
".

A
ut

re
m

en
t

di
t

:
8n

>
n

2
,
�
"

<
w

n
�

`
<

".
3)

P
ar

hy
po

th
ès

e,
on

a
:8

n
>

n
0
,

u
n
6

v n
6

w
n
.O

n
en

dé
du

it
qu

e
:

8n
>

n
0
,

u
n
�

`
6

v n
�

`
6

w
n
�

`

C
om

bi
no

ns
ce

s
in

fo
rm

at
io

ns
.N

ot
on

s
N

=
m

ax
(n

0
,n

1
,n

2
).

P
ou

r
to

ut
n
>

N
,o

n
a

:
�
"

<
u

n
�

`
6

v n
�

`
6

w
n
�

`
<

".
A

ut
re

m
en

t
di

t
:
8n

>
N

,
|v n

�
`|

<
".

R
em

ar
qu

e
•

D
an

s
ce

t
én

on
cé

,
on

ne
su

pp
os

e
pa

s
(v

n
)

co
nv

er
ge

nt
e

m
ai

s
on

le
d
é-

m
on

tr
e.

•
A

in
si

,
ré

di
ge

r
en

ar
gu

m
en

ta
nt

pa
r

«
un

pa
ss

ag
e

à
la

lim
it

e
»

se
ra

it
un

e
er

re
ur

lo
gi

qu
e

(e
t

do
nc

sa
nc

ti
on

né
e

co
m

m
e

te
lle

).
O

n
ne

pe
ut

«
pa

ss
er

à
la

lim
it

e
»

qu
e

si
l’o

n
sa

it
qu

e
la

su
it

e
es

t
co

nv
er

ge
nt

e.
•

C
e

th
éo

rè
m

e
es

t
au

ss
ia

pp
el

é
«

th
éo

rè
m

e
de

s
ge

nd
ar

m
es

».
L’

id
ée

es
t

la
su

iv
an

te
:d

eu
x

ge
nd

ar
m

es
vi

en
ne

nt
d’

at
tr

ap
er

un
vo

le
ur

et
l’e

nc
ad

re
nt

en
lu

i
sa

is
is

sa
nt

ch
ac

un
un

br
as

.
Le

s
ge

nd
ar

m
es

co
nv

er
ge

nt
(i
.e

.
se

di
ri

ge
nt

)
ve

rs
le

po
st

e
de

po
lic

e.
A

in
si

en
ca

dr
é,

le
vo

le
ur

n’
a

d’
au

tr
e

ch
oi

x
qu

e
se

di
ri

ge
r

lu
ia

us
si

ve
rs

le
po

st
e

de
po

lic
e.

E
xe

rc
ic

e
(a

pp
liq

ue
r

le
th

éo
rè

m
e

d’
en

ca
dr

em
en

t)

a)
Q

ue
lle

es
t

la
lim

it
e

de
la

su
it

e
✓

1 p
n

◆ n
2N

⇤
?

O
n

re
m

ar
qu

e
qu

e
:

1 p
n

=

r
1 n
.O

r,
on

a
:

li
m

n
!

+
1

r
1 n

=
li
m

x
!

0
+

p
x

=
0.

b)
D

ém
on

tr
er

qu
e

:8
n
2

N
⇤ ,

1
+

1 2
n
�

1 n
2
6
r

1
+

1 n
6

1
+

1 2
n

.

P
ou

r
a
>

0
et

b
>

0,
on

a
:a

6
b

,
a

2
6

b2
.
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II.
G

énéralisation
au

cas
des

lim
ites

infinies

II.1.
D

éfi
n
ition

D
éfi

n
ition

Suite
divergeant

vers
l’infini

Soit
(u

n
)

une
suite

de
réels.

•
O

n
dit

que
la

suite
(u

n
)

diverge
vers

+
1

si:

8
A

>
0,

9
n

0 2
N

,
8
n
2

N
,

(n
>

n
0 )

u
n

>
A

)

C
e

que
l’on

peut
écrire,avec

l’abus
de

notation
habituel:

8
A

>
0
,
9
n

0 2
N

,
8
n
>

n
0 ,

u
n

>
A

•
C

ecisignifie
que

les
term

es
de

la
suite

deviennent,à
partir

d’un
certain

rang,aussigrands
que

souhaités.
•

O
n

dit
que

la
suite

(u
n
)

diverge
vers�

1
si:

8
A

>
0
,
9
n

0 2
N

,
8
n
2

N
,

(n
>

n
0 )

u
n

<
�

A
)

C
e

que
l’on

peut
écrire,avec

l’abus
de

notation
habituel:

8
A

>
0,

9
n

0 2
N

,
8
n
>

n
0 ,

u
n

<
�

A

R
em

arqu
e

•
U

ne
suite

(u
n
)
quitend

vers
+
1

est
une

suite
d
ivergente.La

notion
de

convergence
est

réservée
aux

suites
adm

ettant
une

lim
ite

fi
n
ie.

C
epen-

dant,par
abus,on

parlera
de

suite
«

tendant
vers

l’infini»
et

on
utilisera

quand
m

êm
e

la
notation

:

lim
n!

+
1

u
n

=
+
1

ou
u

n
!

+
1

•
Ilest

à
noter

que
l’unicité

de
la

lim
ite

s’étend
au

cas
des

lim
ites

infinies.
A

insi,une
suite

ne
peut

à
la

fois
diverger

vers
+
1

et
vers�

1
.
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•
T
out

d’abord,rem
arquons

que
:

r
1

+
1n
6

1
+

12
n

,
1

+
1n

6
1

+
22
n

+
1

4
n

2
,

0
6

1

4
n

2

A
insi,l’inégalité

de
droite

est
vérifiée.

•
D

e
m

êm
e,on

a
:

1
+

12
n
�

1n
2

6
r

1
+

1n

,
✓

1
+

12n ◆
2�

2n
2 ✓

1
+

12
n ◆

+
1n
4

6
1

+
1n

,
1

+
1n
�

7

4
n

2 �
1n
3

+
1n
4

6
1

+
1n

,
1n
4

6
7

4n
2

+
1n
3

E
nfin,on

a
:

1n
4
6

7

4n
2

+
1n
3

,
1
6

74
n

2
+

n.

C
ette

dernière
égalité

est
vérifiée

car
n
>

1.
A

insi,l’inégalité
initiale

est
aussivérifiée.

c)
E

n
déduire

la
lim

ite
de

la
suite

 
s

n
2 ✓

1
+

1n ◆
�

n !
.

E
n

m
ultipliant

l’inégalité
précédente

par
n

(>
0),on

obtient
:

n
+

12
�

1n
6
s

n
2 ✓

1
+

1n ◆
6

n
+

12

D
’où,en

retirant
n

de
chaque

côté
:

12
�

1n
6
s

n
2 ✓

1
+

1n ◆
�

n
6

12

O
n

rem
arque

alors
que

:
12
�

1n
�!

n!
+
1

12
et

12
�!

n!
+
1

12 .

O
n

en
conclut

que
la

suite

 
s

n
2 ✓

1
+

1n ◆
�

n !
est

convergente,

et
que

sa
lim

ite
vaut

12 .
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